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(AN) (%) (AN) (%) (89 (%) (E1#R) (%) (%) (F%) (%) (E&iFR) (PR (&) (AN) (AN)
=1 154,000 37% 8,500 3% 125,000 48% 40,000 44% 45% 26,000 48% 120 90 * 2,700 1,800
AT 6,300 6% 990 2% 360 1% 80 0% 2% 80 1% 30 10 * 40 30,
IR 11,000 20% 540 3% 8,400 25% 2,700 20% 13% 2,900 33% 20 10 * 270 180
E@Fm 590 2% 380 2% 10 0% 10 0% * * * 10 * - * *
BEFm 100 0% 90 1% 130 0% 80 0% 1% - - 10 10 * * *
IHEM 4,200 8% 460 2% 1,400 5% 770 4% 10% - - 20 10 * 30 20,
Ehbbhm 14,000 43% 220 3% 9,800 49% 4,700 48% 47% - - 20 30 * 270 180
=g 3,000 5% 20 1% 1,500 4% 830 4% 4% - - 10 10 * 100 60,
T FERT * * * * 10 0% 10 0% * - - * - * * *
ING BT * * * * 20 0% 10 0% * - - * - * * *
= KHET 10,000 37% 240 5% 5,600 38% 2,100 35% 50% - - 10 10 - 240 160
B SHT1 * * 10 0% * * * * * - - * - * * *
FERE 340 2% 200 1% * * * * * * * * * - * *
#1117 610 3% 130 1% 40 0% 20 0% * - - 10 * - * *
ETH 20 0% 50 1% * * * * * * * * * - * *
EZER=) 220 1% 210 1% 30 0% 20 0% * * * * 10 - * *
FADSHET 310 2% 30 1% 310 4% 80 3% 4% - - 10 * - * *
it 205,000 21% 12,000 2% 153,000 26% 51,000 21% 21% 29,000 34% 300 190 * 3,700 2,500
=
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semmems| T 5 00 i
KEEEY Fib% K ikl [ E2
(k) (%) (&P (PR (PR
BT 29,000 610 * * 20
AT 200 150 * * 10
IR 3,800 80 * * *
E@®FH * 30 * * *
BEEm * 50 * * *
ShEm 510 40 * * *
EhHh 4,600 30 * * *
= 1,500 30 * * *
T AT * 10 * * *
ING BT * 10 * * *
= KET 4,000 20 * * *
BT * * * * *
FLIEAT 40 40 * * *
f&)1187 * 10 * * *
ZEFHT * 20 * * * X1 T R DBOHEEDHD
2 AT * 20 * * * XZ:F—J[iEié'lA‘%L o .
A OSH . 0 " " " X3 MR EAOBRT, AEHAEDELNEEHHD
&t 44,000 1,200 * * 50




